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La soustraction posée
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1

109 - 63 = …………..

2

udc

-
1         0          9

La soustraction posée

6          3

190 - 34 = …………..
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3

202 - 91 = …………..

4

udc

-
2         0          2

La soustraction posée

9          1

270 - 36 = …………..
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5

209 - 106 = …………..

6

udc

-
2         0          9

La soustraction posée

307 - 137 = …………..

1         0          6
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7

339 - 136 = …………..

8

udc

-
3         3          9

La soustraction posée

390 - 212 = …………..

1         3          6
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9

404 - 244 = …………..

10

udc

-
4         0          4

La soustraction posée

409 - 105 = …………..

2         4          4
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11

582 - 301 = …………..

12

La soustraction posée

579 - 306 = …………..
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13

606 - 273 = …………..

14

La soustraction posée

666 - 440 = …………..
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15

709 - 507 = …………..

16

La soustraction posée

780 - 336 = …………..
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17

881 - 301 = …………..

18

La soustraction posée

809 - 466 = …………..
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19

905 - 382 = …………..

20

La soustraction posée

929 - 660 = …………..
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1 46

2 156

3 111

4 234

5 103

6 170

7 203

8 178

9 160

10 304

11 281

12 273

13 333

14 226

15 202

16 444

17 580

18 343

19 523

20 269

La soustraction posée

Avec des « 0 » mais pas que …  Avec retenue ou pas …
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